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OdtgiEsl2t HIote EHIAr
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30,000,000 30,000
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60,0002~ 12 720
O&t|&e| A=l 170,000& * 12 2,040
206 M=l 2,000 2,000
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1,000, 0002 1,000
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- 1,000,000 1,000
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01 Al&H| 100,000 100,000
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50,000,000 50,000
OZAMSS2(HA22401EF) 22l At
50,000,000 50,000
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o220l 1,000,000 1,000
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A2 XSHe 380,000 430,000 /50,000
FOHOAIL =5 380,000 430,000 /50,000
EASHES At 100,000 100,000 0
401 AIEHIX SO 100,000 100,000 0
01 AlZH| 99,100 99,100 0
OZ=x2 HE= AME 99,100,000 99,100
03 AlESTHYI 900 900 0
Ogxs MHES+ A
100,000,000 0. %% 900
a2 FE=E A 280,000 330,000 /50,000
401 AIEHIZL 20 280,000 330,000 /50,000
01 Al&H| 278,920 326,544 NAT,624
OEMits o2 A
39,568,000& 39,568
OYslts & sZTEISA
29,676,000 29,676
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203 ZR =& 9,400 9,400
01 J| 22 =8| 6,400 6,400
(OF:FS) 6,400,000 6,400
M RFA2HLRFEI 3,000 3,000 0
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01 AlZHI 290,000 330,000 40,000
OEEYS Ei== FHISA
35,000,000 35,000
OEXT 01202 HHIZA
30,000,000 30,000
Oz2cll0tE otk FHISA
35,000,000& 35,000
O=Zs02Y S22 FHISA
40,000,000& 40,000
OLEOE =2 JHI3
40,000,000& 40,000
Of=0t2 otl=% HHISA
35,000,000& 35,000
O8Iz 7l s2 Z&
35,000,000 35,000
OEE0IE =2 HUISAt
40,000,000 40,000
=32 2 13,514 13,439 75
101 e124d| 3,014 2,939 75
04 JIZtN2 2N sE+ 3,014 2,939 75
OH=3d 2l UFY 3,014
—Jl=a 78,8803 18292 2,288
—F5+4 78,8803 x1H+52 3%
—4UEE= 2,683,000 *12.3% 331
206 =4I 500 500
01 =4l 500 500
OMs3d 22l Mz 7 500,000 500
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 10,000 10,000
01 Al&H| 10,000 10,000
ON=sSE 2l At 10,000,000 10,000
AH2LIH(HED) 18,030 20,030 2,000
=&l 18,030 20,030 A2,000
JI23Hl 18,030 20,030 A2,000
201 223 7,630 7,630 0
01 At22t2ltl 7,630 7,630 0
Oget=ZH| 7,630,000 7,630
202 04l 1,000 3,000 22,000
01 =LHAHI 1,000 3,000 A2,000
o220l 1,000,000 1,000
203 HR=AH] 9,400 9,400
01 J 2= HRFA| 6,400 6,400
ogd 6,400,000 6,400
MU FA2ELRFAI 3,000 3,000 0
ORKNSgERF=AHI 250,000+ 122 3,000
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SA - B SRIBH) - MRAR - BAS A HIDEZ
OXtgrset] 8,040
—iEg FEU 420,000« 12& 5,040
— Xt ZHIR X 1,500,000 2CH 3,000
202 04| 37,440 37,440
02 XN 37,440 37,440
OZH04H| 240,000 x13F 122 37,440
e NPl 389,007 443,300 AB4,203
[HOIAIE &5 389,007 443,300 ~\b4,203
EEME>= At 100,000 100,000 0
401 Al HIZ S OHbI 100,000 100,000 0
01 AlZ2H| 99,100 99,100 0
OZX= HE+= At 99,100,000 99,100
03 Al 20HHI 900 900 0
OZxE HE= A 10,000,000 *9% 900
a2 FE=F MY 250,000 330,000 80,000
401 AIZHIZ SO 250,000 330,000 80,000
01 Al&HI 250,000 328,920 AT8,920
OZY == HE8ISA 35,000,000& 35,000
O&LE =2 ZHISAH
35,000,000 35,000
OXHESE =2 uHMSA 30,000,000 30,000
OdRi==2 HHISA 40,000,000 40,000
O&L S22 JUISA
40,000,000 40,000
O=5F SZ ZHISM 40,000,000& 40,000
OUR =2 &HBA 30,000,000 30,000
H=33 2el 39,097 13,300 25,797
101 @124H| 24,097 2,800 21,297
M ORIMZZ2NSE S 24,097 2,800 21,297
Ong=ud 22| 212 24,097
—Jl2= 78,8803 x 1 x240& 18,932
—F5=4 78,8803 x 1 »32&! 2,525
—4AEE = 21,457,000 *12. 3% 2,640
206 M=l 5,000 500 4,500
01 =8l 5,000 500 4,500
ong=ud 2el Mz 2
5,000,000& 5,000
401 AIEHIX R0 10,000 10,000
01 A28l 10,000 10,000
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SA egH
M UMBHIR 2
el IR Y 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXtgrset] 12,200
—iEg FEU 750,000 * 122 9,000
— Xt ZHIR X 1,600,000 *2CH 3,200
202 04| 37,440 37,440
02 XN 37,440 37,440
OZH04H| 240,000 x13E 128 37,440
A2 XSG 360,000 400,000 /50,000
FRUEOAE &E 360,000 400,000 50,000
SXESHES A 100,000 100,000 0
401 Al HIZ S OHbI 100,000 100,000 0
01 AlZ2H| 100,000 99,100 900
OZX= HE+= At 100,000,000 100,000
a2 FE=E A 250,000 300,000 /50,000
401 A2 HIRL 201 250,000 300,000 /50,000
01 Al&HI 250,000 299,082 N49,082
Ol=0ts gl ZEIA
10,000,000 10,000
O2S0tEY NEHISA
30,000,000 30,000
Ottt SZ2EEHSA 20,000,000 20,000
O& ME ZHISA 20,000,000 20,000
OgXxits &+ OtAZEISA
10,000,000 10,000
O ENE SZTEESA 10,000,000& 10,000
OdtLIgts E+2 FBISA
30,000,000& 30,000
Of=X==X 212 == ZHISA
30,000,000& 30,000
Odt=el =2 ZXISAt
10,000,000 10,000
Ogkls s2 Z&ESA 20,000,000 20,000
Oct= o282 9 =24
30,000,000& 30,000
O 2= E2 JUISA
30,000,000& 30,000
YA (L) 18,030 20,030 A2,000
=34 18,030 20,030 A2,000
Jl=2&H] 18,030 20,030 22,000
201 er23 | 7,630 7,630 0
01 At2teltl 7,630 7,630 0
Oget=ZH| 7,630,000 7,630
202 04t 1,000 3,000 /2,000
01 =LHOHI 1,000 3,000 /2,000
O&=2l0tl 1,000,000 1,000
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el IR Y 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HEHA 609,296 661,29 /52,000
eI 29 241,266 241,266 0
LHAH LR 29F 241,266 241,266 0
Sclgty =g & 234l Xd 145,110 145,110 0
301 EetE NS 145,110 145,110 0
o7 8% -0 - H¥Es243 128,910 128,910 0
Oo0lE 126,360
—JlE=g 300,000 x27 &+ 12& 97,200
—&03 300, 0003 27 %200% 16,200
— 5| 0| &H At
20,0002 x27 H*23|x 122 12,960
oty +¢ 50,000& *51H 2,550
14 JIEt2d =2 16,200 16,200 0
OO0l &2 g S 16,200
—300t ISt 50,0002 27 E+12& 16,200
SHdY 29 96,156 96,156 0
201 er2 3| 58,716 58,716
01 AtR2te|HI 20,166 20,166
Odgt==H| 13,966
—ZHUYXNEY 4225 Y
5,900,000 5,900
— ML A2FE 7Y 3,250,000& 3,250
—d2X 7= 250,000 x4=2 7| 1,000
—SEA ARE 7Y
300,000 427 1,200
—8=J| |AZe 150,000& *4Z | 600
—3JIEEI| gxz
56,0002 *3CH* 12 2,016
Ogals=g 1,000,000& 1,000
@r=] 8,000 *138 »50! 5,200
2 35244l 38,550 38,550 0
O=32=  HAl 18,190
—ig2d M= # 2E8s
800,000 +2CH 1,600
— &AL &JIRS 1,100,0002  12& 13,200
—EA dotrEANERE
70,0003 * 122 840
-8 &&= 500,000 *4=2 | 2,000
—AYHNEH S Mg
550,000 550
ORI AHIAIAE 2,760,000& 2,760
OAlZ &I Xl 5,000
—EA RXl2el 5,000,000& 5,000
OXtgrdet] 12,600
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- FEU 800,000& 122 9,600
—Xtg UK X 1,500,000 *2CH 3,000
202 04| 37,440 37,440
02 A0 37,440 37,440
OZ 048l 240,000 x13F 128 37,440
A2 XSHe 360,000 400,000 /50,000
FRBEOAE =F 350,000 400,000 /50,000
ESMES A 100,000 100,000 0
401 AIEHIX SO 100,000 100,000 0
01 Al&H| 99,100 99,100 0
OZ=x2 HE= AME 99,100,000 99,100
03 AlESTHYI 900 900 0
OZx2 MHE= AME
100,000,000 0. %% 900
a2 FEU=E A 250,000 300,000 /50,000
401 AlEHIZL SO 250,000 300,000 /50,000
01 Al&H| 250,000 298,920 48,920
O2d HEs == t
30,000,000& 30,000
O==x02 s2 & Hi= BIS AL
20,000,000& 20,000
OO0} =2 EHEISAt 20,000,000 20,000
O=2=x0l2 & =2 &
30,000,000& 30,000
Osdtet s2 MEHS 30,000,000& 30,000
O=s 2838 =2 SA
20,000,000& 20,000
=8 E2 HHISA 25,000,000 25,000
oot 22y o &y
25,000,000& 25,000
Odtdl Hials =2 S
25,000,000& 25,000
O3d 842 FHISAM 25,000,000 25,000
HY 2B (HHR) 18,030 20,030 22,000
Jl=23H 18,030 20,030 /2,000
Jl=23H] 18,030 20,030 /2,000
201 ZBt=Ehl 7,630 7,630 0
01 AtR2t2|HI 7,630 7,630 0
Oget=EH| 7,630,000& 7,630
202 04| 1,000 3,000 A2,000
01 =LHO LI 1,000 3,000 22,000
o220l 1,000,000 1,000
203 HR=H] 9,400 9,400
01 J|2=2geR=a] 6,400 6,400
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M UMBHIR 2
el IR Y 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Lolgd| 94| 6,000,000& 6,000
202 04l 48,960 51,840 N2,880
02 A0 48,960 51,840 2,880
OZH048l 240,000 x17H =122 48,960
A2 XS 363,514 413,439 A\49,925
FOIHOIAIL =5 363,514 413,439 N49,925
SXENES A 100,000 100,000 0
401 AIEHIL 20 100,000 100,000 0
01 Al&H| 99,100 100,000 2900
OZX=2 M2+ At 99,100,000& 99,100
03 AIZ2THYI 900 0 900
OExSHES ML 100,000, 0002 *0. 9% 900
a2 FE=E A 250,000 300,000 50,000
401 Al HIZ R 0HbI 250,000 300,000 50,000
01 AlZ8| 250,000 300,000 /50,000
O"2 =2 Ex3At 30,000,000& 30,000
OM=8+2 MHE=SA 40,000,000 40,000
O8I =2 €& ZHISA
30,000,000& 30,000
OZd otz AIHEHISAL
40,000,000 40,000
ON= s2 B BAt 30,000,000 30,000
OelE 8+2 HHIS3AM 40,000,000 40,000
O7gs =2 FISA
40,000,000 40,000
HEsd 2l 13,514 13,439 75
101 ©1AH| 3,014 2,939 75
M ORNZZ2NSE S 3,014 2,939 75
OM=3d 2l AFY 3,014
—Jl=s 78,8803 x 18 20! 2,283
-5+ 78,880 x1H 5 3%
—4AUEE= 2,683,0002%12. 3% 331
206 M=H| 500 500
01 M= Hl 500 500
ONM=s3d 2l ME 7Y 500,000 500
401 Al HIZL 201 10,000 10,000
01 Al&HI 10,000 10,000
OMs3d 2l At 10,000,000& 10,000
M 2AZHI(AIHEH) 21,780 23,780 22,000
=238l 21,780 23,780 A2,000
JI23Hl 21,780 23,780 /2,000
201 et 3| 10,180 10,180 0
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202 04t 1,000 3,000 22,000
01 =LHOHI 1,000 3,000 A2,000
O&=20tl 1,000,000& 1,000
203 BRI 10,600 10,600
01 1228 R=a| 6,400 6.400
ogd 6,400,000 6,400
M EASHLRFAH 4,200 4,200 0
ORNESgER=aHI 350,000& * 12 4,200
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fA: JlelH
ol

M UMBHIR 2
el IR Y 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—Xe HIRXH 1,500,000 30 4,500
O=feldHl 29 2,760,000& 2,760
202 04| 37,440 37,440
02 A0 37,440 37,440
OZ 048l 240,000 x13F 128 37,440
A2 XSHe 360,000 413,439 63,439
FRBEOAE =F 350,000 413,439 A\63,439
ESMES A 100,000 100,000 0
401 AIEHIX SO 100,000 100,000 0
01 Al&H| 99,100 99,100 0
OZ=x2 HE= AME 99,100,000 99,100
03 AlESTHYI 900 900 0
OZx2 MHE= AME
100,000,000 0. %% 900
a2 FEU=E A 250,000 300,000 /50,000
401 AlEHIZL SO 250,000 300,000 /50,000
01 Al&H| 250,000 298,920 48,920
OSJIME Bi+==2 HHISA
30,000,000& 30,000
Oz¢ =2 ZHISA 30,000,000 30,000
O=XsS 52 HEEFSA
40,000,000 40,000
Os= 022t OtAZE ZEZAL
40,000,000 40,000
Oz 8+2 FHISAM 30,000,000& 30,000
O&Y OS2tz OtAZE ZEHZAL
40,000,000 40,000
OUAIDIS S22 SHEISA
40,000,000 40,000
HH2AZHI(Ot3H) 18,030 20,030 22,000
Jl=23sl 18,030 20,030 /2,000
JI23Hl 18,030 20,030 /2,000
201 et 3| 7,630 7,630 0
01 At2t2l] 7,630 7,630 0
Oget=ZH] 7,630,000 7,630
202 04l 1,000 3,000 22,000
01 SLHoIH 1,000 3,000 /2,000
o220l 1,000,000& 1,000
203 HE=AH] 9,400 9,400
01 D[22 LR FA| 6,400 6,400
oud 6,400,000& 6,400
MU FA2SHI LI 3,000 3,000 0
OFAMEZE = 250,000 * 122 3,000
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SA HEH
M UMBHIR 2
el IR Y 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- FEU 1,275,000& «12& 15,300
—Xtg UK X 1,500,000 *3CH 4,500
202 04| 37,440 37,440
02 A0 37,440 37,440
OZ 048l 240,000 x13F 128 37,440
A2 XSHe 383,514 463,439 AT9,925
FOHOAIL =5 383,514 463,439 AT79,925
EASHES At 100,000 100,000 0
401 AIEHIX SO 100,000 100,000 0
01 Al&H| 100,000 100,000 0
OZ=x2 HE= AME 100,000,000 100,000
a2 FE=E A 270,000 350,000 80,000
401 Al HIZ R 0HbI 270,000 350,000 80,000
01 AlZ8| 270,000 350,000 280,000
ORF 0IHS0IS ALTHIAY
20,000,000 20,000
O 222 S2EIIIA
30,000,000& 30,000
OESIte sZHLRYSA
30,000,000 30,000
Oty Agay & =3
20,000,0002 20,000
ORFEH RY VYT HTHTH
25,000,000& 25,000
OXlgs0lEs &g Ag
30,000,000 30,000
Odls1+ 3|20E &4 FUAIE ZHIAY
30,000,000 30,000
O3+ Ot=22 FHIAE
30,000,000& 30,000
OUldS0t= JIRMEHAX SZEZESA
20,000,000& 20,000
Ogsz s2 FdlIAg 15,000,000 15,000
OaxesZ SELYESA 20,000,000 20,000
H=EsE 2l 13,514 13,439 75
101 @124H| 3,014 2,939 75
MU IIRIMZZENSES 3,014 2,939 75
OME3d 2l FY 3,014
—Jl2=s 78,8803 x 18 »20! 2,288
-5+ 78,8802 x1H+5 3%
—4AHEE= 2,683,000& *12. 3% 331
206 MH=Hl 500 500
01 MZH| 500 500
OH=2d 2l Mg + 500,000 500




FA HEH
B A7D TR
Rl FRBEOAANL &F EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 10,000 10,000
01 Al&H| 10,000 10,000
ONSSE 22l 10,000,000 10,000
HY2AZHI(HEH) 18,030 20,030 /2,000
=&l 18,030 20,030 A2,000
JI23Hl 18,030 20,030 A2,000
201 223 7,630 7,630 0
01 At22t2ltl 7,630 7,630 0
Oget=ZH| 7,630,000 7,630
202 04l 1,000 3,000 22,000
01 =LHAHI 1,000 3,000 A2,000
o220l 1,000,000 1,000
203 HR=AH] 9,400 9,400
01 J 2= HRFA| 6,400 6,400
ogd 6,400,000 6,400
MU FA2ELRFAI 3,000 3,000 0
ORKNSgERF=AHI 250,000+ 122 3,000
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SA: BEH
M UMBHTR 2
o9l AMBIEX 29 (o) @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
-t RSH 700,000 <12 8,400
—Xt& U= Xl 2,000,000 *2CH 4,000
202 O4H| 37,440 37,440
02 X0l 37,440 37,440
O NI 240,000& x13H 123 37,440
A2 XS 418,509 488,509 A70,000
FOHIANL &= 418,509 488,509 A70,000
AXSHES AL 100,000 100,000 0
401 A& B2 20HL| 100,000 100,000 0
01 AlEHI 99,100 99,100 0
Og=x= MES A 99, 100,000& 99,100
03 A& 2 CHYI 900 900 0
Og=xZE MES AL
100,000,000 *0. %% 900
AR FOU=SE ALY 280,000 350,000 A70,000
401 AIEHIZL20HHI 280,000 350,000 70,000
01 AlEHI 280,000 350,000 270,000
O 24 the=g &b 25,000,000& 25,000
OLkel == &Xl 30,000,000 30,000
O=s =2 &l 30,000,000 30,000
osdtgitg 23717 &
15,000,000& 15,000
Odli=0t= etz H| 30,000,000& 30,000
O3Yd SotEH| 30,000,000 30,000
Ofj-DE17 Mz Il
30,000,000 30,000
07| Di2er B4z Fb|
30,000,000 30,000
OE= 0ttis =2 =& 30,000,000 30,000
OEd =2 HHEFY| 30,000,000& 30,000
HEZ23 22l 38,509 38,509
101 2124l 23,509 23,509
M IIRNZ2EXsEs 23,509 23,509
OMssa 22| ey 23,509
=Jl==2 76,9603 * 1 240 18,471
-5 76,9602 x 1232 2,463
—4UEes 20,934,000 *12.3% 2,575
206 =4l 5,000 5,000
01 MZHl 5,000 5,000
ON=sd 22l Mz 22
5,000,000& 5,000
401 AIEHIZ20HHI 10,000 10,000
01 Al&HI 10,000 10,000




2A:

B XIoile
=aak INE EE 2 HA)
BH - BB - HRAY - BAS A HIDE2
| ONs2d 22l 10,000, 0002 10,000
g Hl(25D) 18,030 20,030 £2,000
18,030 20,030 22,000
ul 18,030 20,030 22,000
2et2aE| 7,630 7,630 0
AtS2teld] 7,630 7,630 0
Ogit=3H| 7,630,000 7,630
202 01t 1,000 3,000 A2,000
01 ZLHOIH] 1,000 3,000 £2,000
O22| 044l 1,000,000& 1,000
208 H2EY| 9,400 9,400
01 J|2=gg =AYl 6,400 6,400
ot 6,400,000 6.400
M FA2SHIFII 3,000 3,000 0
ORAeggREY) 250,000 122 3,000




